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< HAXTE > 1 fi Spt
5 | SRR K% S1 S2 S3 S4 S5 S6 o= &t
2 | 18 NEFEAE [102.7]102.9 ] 102.6 [ 102.7] 103.6 | 99.4 | 613.9
4 | 20 BH % [102.6]104.7]103.4] 104.7] 102.7] 103.6 ]| 621.7| 1844.8
5 | 22 LIpgJE g 11025 101.21102.31100.6]101.9]100.7 ] 609.2

<  HRKE > 2 i Tpt
58 | siEE K4 S1 S2 S3 S4 S5 S6 BEa =11
2 16 A SrE | 101.8]101.8] 103.8]101.2] 102.3] 99.7 | 610.6
4 17 Alg Ew | 101.8[103.1] 99.7 [ 102.8] 100.9 [ 102.6 | 610.9| 1840.6
5 20 JE 46 | 101.5] 102.7 103.1 | 104.1 [ 104.8 [ 102.9 | 619.1

< HEEBRFE > 3 fu 6pt
R | SRR K% S1 S2 S3 S4 S5 S6 B &&
2 14 (hep By | 102.6 | 101.7 [ 104.0 | 104.3 | 103.7 | 102.8 | 619.1
4 | 15 B A 99.3 | 99.1 | 97.0 | 100.2] 98.9 | 98.2 | 592.7| 1809.9
5 | 17 G ke [ 101.2] 975 [ 101.0] 99.8 [ 99.1 | 99.5 | 598.1

< TEILERY > 4 §r 5pt
58 | siEE K4 S1 S2 S3 S4 S5 S6 BEa =11
2 32 e BEE | 100.8| 98.9 [ 101.2] 99.5 | 101.7| 101.4 | 603.5
4 | 33 TR Sk 95.8 | 99.0 | 100.0| 98.6 | 99.5 | 99.7 | 592.6 | 1801.8
5 | 37 % el | 100.7] 101.3 | 99.8 | 101.1] 101.8 | 101.0 | 605.7

< B PE R > 5 fif 4pt
B8 | siEE K4 S1 S2 S3 S4 S5 S6 /e &t
2 17 A8 A | 100.6 | 100.3 | 97.2 | 102.3| 98.3 | 99.2 | 597.9

4 18 FE K — 94.8 [ 100.0 [ 100.5| 99.4 | 98.8 | 99.6 | 593.1| 1796.9
5 | 21 S A 99.8 | 101.7] 100.7 | 101.2 [ 100.1 | 102.4 | 605.9

< BEZZBRE > 6 fiI 3pt
R | GTEE K% S1 S2 S3 S4 S5 S6 Ba &t

2 | 28 (TN IN 99.9 | 100.2 | 99.4 | 103.3] 100.3 | 98.6 | 601.7
4 | 30 g HE 99.1 | 98.7 | 101.3| 98.0 | 97.2 | 98.6 | 592.9| 1796.1

5 | 33 jEwl ZfE | 100.8] 99.4 [ 101.2] 98.5 | 100.7 | 100.9 | 601.5

< MAfERFE > 7 L 2pt
B8 | 51 K4 S1 S2 S3 S4 S5 S6 /e &t

2 9 o BARR 94.8 | 99.1 | 99.1 | 99.6 | 98.3 | 102.2 | 593.1

4 | 10 B8 W 96.1 | 99.6 | 96.0 | 99.5 | 98.9 | 98.8 | 588.9| 1784.3

5 12 ARIEE 2 I 99.7 | 101.5 | 102.0 | 101.1 | 99.6 | 98.4 | 602.3

< [HEBEfLRE > 8 I 1pt
518 | 5iRE K& S1 S2 S3 S4 S5 S6 | B A

2 | 20 INIEZ RN 98.2 | 102.5] 96.4 | 96.2 [ 96.6 | 96.7 | 586.6

4 | 21 £ il 96.8 | 99.8 | 94.8 | 100.3| 94.2 | 95.9 | 581.8| 1783.4

5 | 23 e A | 104.31 1038.6 [ 101.3] 100.5] 101.6 | 103.7 | 615.0
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< SR F > 9 fu

58 | siEE K4 S1 S2 S3 S4 S5 S6 BE =118
2 12 JRH  FEIK 95.8 | 96.0 | 96.2 | 97.8 | 96.0 | 98.1 | 579.9
4 | 14 INiE  SRE 98.7 | 98.6 | 99.3 | 99.3 [ 100.6| 99.4 | 595.9| 1778.8
5 16 W =it | 100.0 [ 101.3] 99.0 | 100.2 | 102.2 | 100.3 | 603.0

< FHEKF > 10 fir
5 | SRR K% S1 S2 S3 S4 S5 S6 o= &t
2 | 24 BA BAX [103.2] 99.8 [102.4] 99.6 | 98.3 | 97.2 | 600.5
4 | 26 M Tk 977 | 99.8 | 95.7 | 99.6 | 97.3 | 98.8 | 588.9| 1775.3
5 | 30 2 e 1100.1] 95.2 | 96.5 | 101.4 ] 96.2 | 96.5 | 585.9
< BHFERRKFE > 11 i
58 | siEE K4 S1 S2 S3 S4 S5 S6 BEa =11
2 22 TEAKE 100.1 ] 99.8 | 98.5 | 102.2| 96.3 | 94.9 | 591.8
4 | 23 ha 99.2 | 95.6 | 97.0 | 96.7 | 94.6 | 94.3 | 577.4| 1769.1
5 | 26 INEE Mz 96.6 | 100.0| 101.2 | 99.2 [ 103.1] 99.8 | 599.9
< WALFERERZE > 12 fir
R | SRR K% S1 S2 S3 S4 S5 S6 B &&
2 | 30 ALAIRES ] 100.1] 95.3 | 97.7 | 96.5 | 97.3 | 95.0 | 581.9
4 | 31 | =% Kéli [101.4]100.9] 958 | 97.1 | 100.4 | 94.4 | 590.0| 1768.0
5 35 FI e 99.8 | 98.2 | 99.1 | 99.2 | 100.4 | 99.4 | 596.1

< AR R > 13 fi
58 | siEE K4 S1 S2 S3 S4 S5 S6 BEa =11
2 | 21 N Ay | 100.4] 99.2 | 97.3 | 100.7 | 101.2 ] 102.8 | 601.6
4 | 29 K~ FIR 99.9 | 103.7] 99.4 | 102.3] 102.8] 103.3|611.4| 1757.2
5 | 24 2 A % | 953 [101.2]100.6]102.0] 95.8 | 49.3 | 544.2

< BREXE > 14 fi
B8 | siEE K4 S1 S2 S3 S4 S5 S6 /e &t
2 26 A HE A B 95.0 | 98.3 | 984 | 96.2 | 96.9 | 94.5 | 579.3
4 | 27 HFE KK 926 | 97.7 | 98.3 | 98.8 | 97.2 | 100.3]| 584.9| 1747.5
5 31 i2E S i) 90.9 | 98.9 | 96.9 | 100.5| 98.6 | 97.5 | 583.3
< LN > 15 {if
R | GTEE K% S1 S2 S3 S4 S5 S6 Ba &t
2 39 w0 98.1 | 956 | 93.1 | 93.6 | 95.2 | 94.7 | 570.3
4 | 40 O HE 97.8 | 94.2 | 94.0 | 976 | 90.9 | 93.8 | 568.3| 1728.9
5 | 40 (Ll E¥R 99.6 | 100.6]| 95.2 | 99.9 | 95.2 | 99.8 | 590.3
< FWUERKXKE > 16 fiI
B8 | 51 K4 S1 S2 S3 S4 S5 S6 /e &t
2 8 | #HatE—24 | 975 | 98.8 | 100.7] 97.9 | 96.8 | 100.7 | 592.4
4 9 R EA 939 | 88.7 | 90.5 | 959 | 95.1 | 88.4 | 552.5| 1701.0
11 K thia 86.5 | 94.0 | 84.0 | 99.0 | 96.7 | 95.9 | 556.1

< RHIRF > 17 I

ot

518 | St K4 S1 S2 S3 S4 S5 S6 | /= A
2 | 27 e At | 96.8 | 97.3 ] 974 | 89.7 | 98.3 | 97.7 | 577.2

4 | 28 NS 95.3 | 93.0 | 87.4 | 92.4 | 85.9 | 85.0 | 539.0| 1671.4
5 | 32 g —x 93.4 | 93.0 | 87.4 | 932 | 94.8 | 93.4 | 555.2

< 4AHEEXRE > 18 {i

5iEE | 5iEE K4 S1 S2 S3 S4 S5 S6 ga &t
2 | 33 EE 86.4 | 97.2 | 82.7 | 90.0 | 86.2 | 84.0 | 526.5

4 | 37 M 753 929 | 985 | 96.8 | 94.7 | 98.1 | 92.5 | 573.5| 1661.6
5 | 36 fE 916 | 96.3 | 95.1 | 92.6 | 94.7 | 91.3 | 561.6
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< JBEERE > 19 fi

58 | siEE K4 S1 S2 S3 S4 S5 S6 BE =118
2 11 7o suf 92.1 | 91.3 | 93.2 | 93.3 | 94.2 | 95.2 | 559.3
4 | 12 FiE i | 964 | 920 | 91.2 | 95.9 [ 91.8 | 89.3 | 556.6| 1604.5
5 15 B Mk 80.0 | 77.2 | 72.9 | 85.3 | 87.0 | 86.2 | 488.6

< BERE > 20 fir

5 | SRR K% S1 S2 S3 S4 S5 S6 Ha &&t
2 31 b BEER DNS

4 | 32 oYl 94.6 | 91.8 | 103.8] 96.5 | 99.2 | 96.7 | 582.6| 1186.7
5 | 10 A  #% 1100.3] 99.7 | 100.3] 102.1]102.3] 99.4 | 604.1
< MNIERE > 21 {if
58 | siEE K4 S1 S2 S3 S4 S5 S6 BEa =11
2 | 36 B4 fr # ] 103.5] 100.3] 98.9 | 101.4 | 98.8 | 100.8 | 603.7
4 | 39 A 2 | 909 ] 982 | 93.7 | 889 [ 100.0] 100.7[572.4| 1176.1

5 41 BEY {EE DNS
< EFEFEBRERE > 22 fir
5iEE | HiEE K% S1 S92 S3 S4 S5 S6 H5a &t

2 10 ITA RV 98.8 | 939 | 96.1 | 959 | 98.3 | 96.2 | 579.2
4 11 % W &R 97.3 | 97.6 [ 101.2] 96.0 | 975 | 96.0 | 585.6| 1164.8

5 14 e L DNS
< BRBFREXRE > 23 fir
SR | g K% S1 S2 S3 S4 S5 S6 Ba &5t

2 | 38 S0 KkEE | 93.4 | 100.2] 96.3 | 97.7 | 95.1 | 97.0 | 579.7
4 | 385 N 949 | 996 | 95.7 | 95.8 | 94.7 | 97.2 | 577.9] 1157.6

5 9 BE)I A DNS
< TIERFE > 24 fiI
et | gtEE K4 S1 S2 S3 S4 S5 S6 /e &&t

2 | 35 G 99.7 | 96.0 | 101.3] 97.5 | 97.3 | 99.5 | 591.3
4 | 36 [ 2 97.4 | 925 | 91.5 | 93.1 | 87.7 | 92.8 | 555.0| 1146.3

5 39 B | DNS
< ZAHBILERRE > 25 i
SR | HEE K4 S1 S2 S3 S4 S5 S6 B &5t

2 37 . H A 89.8 | 89.7 | 84.3 | 87.6 | 80.8 | 86.1 | 518.3
4 41 B yF | 1009 98.2 | 98.2 | 101.7] 99.7 | 99.2 [ 597.9| 1116.2
5

28 INE R DNS
< AR > 26 {i
SE | HE K4 S1 S2 S3 S4 S5 S6 B/ &5
2 15 bR AR 94.7 S2 99.5 | 100.1 | 96.0 96.4 | 583.3
4 | 16 kE 1A DNS 583.3
5 18 DN DNS
< HERT >
HE | S K4 S1 S2 S3 S4 S5 S6 Br &5

2 | 23 i B DSQ
4 | 24 | [E #EE | 99.7 | 100.4|102.4 | 100.4 | 101.5 | 102.5[606.9| DSQ
5 | 27 | JEE EEfF ]102.2]102.2] 97.3 | 100.8 | 103.2 | 103.4 | 609.1




